
Time: 10 Minutes Paper Science 8 Total Marks: 10

4  Month, 4th Week, 3rd Day Syllabus: Unit # 8 Hydrauli lift (Elevator)

Q.No.1 Encircle the correct answer from the following choices.            (0.5×6 = 3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. The formula of force is equal to: ¯̄̄̄ggggkkkk»»»»ÃÃÃÃggggññññÑÑÑÑìììì::::
(a) mas / volume zZCx / âk (b) Pressure × Area Zk,c*x 6,b
(c) Pressure x volume zZCx x 6,b (d) Pressure + Area Zk,c*+ 6,b
ii. _______prevent the back flow of oil to the small cylinder.

ggggLLLLYYYYggggÐÐÐÐ%%%%ÆÆÆÆúúúú····îîîîÃÃÃÃggggzzzz1111ÆÆÆÆaaaaZZZZEEEEwwwwƒƒƒƒDDDD÷÷÷÷:::: ______

(a) Volves zZßi (b) Pistons
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iii. When the oil stopper is opened the oil in the large cylinder flows back to the.

ZZZZ####WWWWbbbb66666666,,,,6666,,,,ÅÅÅÅÑÑÑÑYYYY@@@@****ììììÂÂÂÂ((((,,,,}}}}YYYYgggg~~~~WWWWbbbbzzzzZZZZ::::YYYY@@@@****ìììì::::
(a) Car     »g~ (b) Pipe 0*U$~

(c) Small cylinder gL_5Ò5å GEHg~ (d) Oil tank WbÛ

iv. How many cylindes are there in hydraulic system? ;;;;ŠŠŠŠ´́́́ÄÄÄÄ~~~~ÄÄÄÄ____5555ÒÒÒÒ5555åååå GGGGEEEEHHHHggggiiiiƒƒƒƒDDDD÷÷÷÷????
(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ
v. Hydraulic pressure always acts: ;;;;ààààggggzzzź́́́6666,,,,bbbbåååå»»»»xxxx™™™™@@@@****ìììì::::
(a) Horizontal     Z| (b) Perpendicularly ÀŠU

(c) Slanty F,h (d) None of these Ãð7
vi. Lift is an application of: ÀÀÀÀZZZZœœœœmmmmìììì::::
(a) Hydraulic system   ;àÄ́ (b) Aerosols Zk,zÎ²Å

(c) Pneumatics Å E
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(d) None of these Ãð7

Q.No.2. Write short answers.                (2×2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i) How does the load brought down in hydraulic lift?

;àgźÀ~ziy)ße(ÃnùÑc*Y@*ì?

(ii) What is the advantage of hydraulic lift? ;àgźÀ»HÃZ+{ì?

Q.No.3. Write long answer.                                (3) ----����ZZZZ[[[[KKKKXXXX

Explain hydraulic lift with the help if diagram.

;;;;ààààggggzzzź́́́ÀÀÀÀÅÅÅÅeeeeZZZZcccc****¤¤¤¤////ZZZZxxxxÅÅÅÅææææŠŠŠŠÐÐÐÐzzzzŸŸŸŸssss####™™™™,,,,XXXX
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